1.
Simplify each expression to one of the three primary trigonometric functions, sin x,
cos x, or tan x.
a)
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cot x sin x
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2.
Simplify each expression. 
a)
2(csc2 x  cot2 x)




b)
cot2 x (sec2 x  1)

c)
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d)
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e)
tan x cos2 x




f )
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3.
Simplify each expression, then rewrite the expression as one of the three reciprocal trigonometric functions, csc x, sec x, or cot x.
a)
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b)
cos x  tan x sin x
c)
sin x  cos x cot x
4.  Rewrite each expression in terms of sine and cosine only. Then simplify.

a)

[image: image8.wmf]sec

tan

x

x




b)

[image: image9.wmf]2

2

cot

1sin

-

x

x




c)

[image: image10.wmf]cscsin

cot

-

xx

x



_1365948042.unknown

_1365948965.unknown

_1365950000.unknown

_1365948974.unknown

_1365948643.unknown

_1365948907.unknown

_1360109542.unknown

_1365948009.unknown

_1360109541.unknown

_1360109538.unknown

